. (HW-B) Q3 xaé\ncé X =2 o
1\

I Q) (3 ' | t 5 \/-L**"' = )

‘\n\(\j)( +X-?&)——\\'m(4x _2(.4-7’)—-& ) |lm(\A) X3
I KD ey X2 o0 X3 oo
| = x'(JJ*+~1-~1

X%m/ /KS )

I Vv Q.J’

oo : g_/
| L,

Bt N (.04
| X1~ | - X b X2 («/;x)‘,(\/T'..:‘L
l Uu\-ﬁpld bd ' ~o"
. (=x'_,
l 40X fimoet
' 3 i la- Y ¢4
c) \im SR =Rt = lim x N A

| xo-eo (3x5%4x%-y " xo-w ml 3v - v

-X since xX=-0

i B )
—lim /:’?‘.//(2~}/></+3/£) = B
XD~ ota YYD
| A VA e

o
S
3 -
) g-code [, 2mesdix goZueesX g 9
X o v sin'x>0 4 dmconx &1
‘s‘-nqx s ‘ 7 ~ ~
- _<a::.3x <!
wich ) Thm
i ! —LUm _1_ ) By Squezee (Sd
n — =
swee A0 X T e
‘ 3
‘ 9 —cod> X e
by . %
X-D00 X 40X
_!Mﬁ,ﬂ T i AN A R R I L AP

Scanned by CamsScanner



2, 2
e) | x% 2+ x—21 - \im \X—l”)ﬁi“x—l’
X2 xX2-Sx+ 0 %2 (x—'b) (x—2)
— ltm (x-ll(x-ﬂ).E(}A)] _ Um _(x_‘)(x-u) _ 3
X2’ (x-32) (;/f) x33 -3
-t “"ﬂ ( x-)(x+1) (K%S lien (XA)(XH) - -1
A o -
X2 (x-2) (1//2.) x-aat (x-3)
Oince. LAd RHS, 4his Umit ane
3
£) wm lxtael«1xdoa8l o xhag =63-28)
KPS li—xlt 1 x+3  =(=x)+]
2
:hnﬁ = 2-/3
X273 P
. 153
(153 ! s, _t
8) <Since | & ;.n(ﬁt—-) < | , e & e £ &
L)
= -tl-é. é'tzcém {—) ¢ e
O & ,,(.5_)
2 A L- _L e = 0 bd :‘xTJth" __l)ng
Sike  um L& = M
120 S
2 o.‘nzx
y . l—coax Aieny - co> X = Ulm =
" :‘::; x? / %x=20 x%ll-ecaa"); X290 A (lecs)
Mulﬁplt["d
[+coox = | o> x =SInK
|+ codX
,[,nf'}r me ) Jl/‘(x / = 1/2_
= A
20 / /

~ Scanned by CamScanner



¢) Pecoll Lxd=

f(x) / Grga.}f_s‘} ,'nkjer [L)an‘/?bﬂ)

o
'3 -3 1 ‘ { 5
:\ : T
.; (, ;
Y &—O
/
< Lxd &£ X = = T =
Notle et -1 =
. =4
| w-Y%) _| ond Um L
Ly X2 = g S T , e
sl x—oo X X-Dod X
N
& Lxd  __ A,
ftbd Squc;bee/ Ln =——
WD

Scanned by CamScahnér



